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Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A E Lo @ ~

1-16 0‘ l:l‘ 9:53

P2: power and forcr e

A cr .stant force delivers an average power of 6 watts to move an o' ect. If the
ob,ect has an average velocity of 3 m/s and the force acts in the diiection of
motion of the object, what is the magnitude of the force?

o833 M/s puadl A Jawgino OB 13] .ouw 2y 6 watts @ 8)u8 Jawgie Al 593 1345

ogdll da Hluds Lad ¢ ﬁ 1 &)= ol (3 345 Bgall

A L 2 2y Sl e iy g
You imdy use any of the ghven constants and equations where feeded:
- w
= -9, 2 -— Fy = pF,
a Gm/s At =Py
=hoey <]
W = F.Ar = Freos@ AU = mre™ n‘,—z_
m
W,:—mgh » =Ko+ Uy ﬂ?=;=;ﬁt
K ;;mul W =AK = —AU mypy + matpy = gty + b
- _[ Tmiy ]
s ™ ey + g Yiax
W, =kt =t
e {‘:‘=_“_'1=. s
25 lmg + mg)

L iyl (b 9 Jglsell J i
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motion of the object, what is the magnitu~ : of the force?

1-16 0‘ N | 10:01

CIB3 1 | el A w Jawgio OB 13 x> oy 6 Watts ja 5,08 Jawgie & L 899 )33

§89al oh;lmufﬁ_ ) 85)> ol> ii »§ 853l

A B Sy S i
You may use any of ihe given consiants and oquations where needed:
g=~9.8m/s r=nﬂ_’ Fy=pFy
e 7
W = F.Ar = Freost mgh l(=-:_.—"~l
W, = —mgh K+U=Ks+Up AP =] =Fat
K=%m:>’ W= AK = AU gy + Mty = mhyiy + b
Zmy
".ru—[m]l-’.n
W, =—kx® P=mp
N _[’"z‘"":]
M= my o+ oy &
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= { Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A

Vs Leruryy Wi

Whick .ne of the following is a correct unit of Energy?

"-'E.§LI-:.U&_=.,.=.,5L,..L_@ .}3&31&&@?

S Sy S e g ey
You may use any of th given con and equations where nesded:
N
= -9, T s Fi = pF
g=-98m/s i &= pFy
- P!
W = F.Ar = Frcos@ AU = mgh K= 2_
m
W, = =mgh K+U=Ky+ Uy AP = ] = Fat
x;%mzr? W= AK = —AU myiipy, + Mty = myby + mai,
- _{i]v
fix = ity + my (f2]
1 - =
W, = = kx? d e
. . S
 frem ey + my o
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P1: predicting skills e

.1e physical quantity (impulse) has the same unit as that of which of ' .

following?
oo Lan (Y Alas ol B9 Lo (231) Asbipall duSI
""""""""""""""""""""""""""""""""""""""""""" M Ltm @
o 0
Er- gy o
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P1: classifying skill

.nich of the following physical quantities groups does not contain a scalar
quantity?

velocity, force, power

5_;..15]‘ r.5_,.ﬂ| ci.g.qdn.!'l a.t-_,w.” O
acceleration, speed, work o
Jaadl si.ﬁJ-‘.J'i F WAl

e e ., i
; displacement acceleration, force ® ;
: B9all ¢ yludll )Yl i
Ll [l
L I e e e T T T e T 4

energy, wo &, power o

Bud) sl A5Uall

L ol lasdl (3L 9 J gl J 3 Ve

A a
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P1: Applying equat’ s skill

’ - wall of mass (m) is thrown vertically into the air with an initial speed (v' .vhich
of the following equations correctly describes the maximum height (b _r the ball?

T Sl Ll AU C¥laadl 5 1 (V) A8 Ay slggl! (§ Bogas (m) LgaliS 8,8 Cauad
58,5 4l Juas (h) $las)) gl

L B0 Sy S e i Ly
You may use any of the given and equations where ded
g=-9.8m/s? P=:l: Fi = pFy
- B P
W = F.A¥ = Frcos@ AU =mgh K=—
2m
w'.=“‘lllﬂk K- « Ko+ Uy ﬂF=}=FM
K:%mv’ W= AK = —AU For a special case where Py . =
_[ Zm, 7
Ufix = Iﬂ;+ﬂl=] Lx
W.:—h‘x’ F:mi;'
S
Vrax = g + s Vizx
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= Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A

ar
- » PZ
W = F.Ar = Frcos@ mgh K= =
W, =-mgh K+U=Ky+ Uy AF=E=FM
xn%"w, W= AK = =AU For a special case wher ;. =0
2my
V!:.-—[m' +m:] Vize
W, = 2kt P=
& L =[ﬂh__”h]u
e i PV

h=2X @

T T -

-------------------------------------------------------------------------------------------------------------
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P2: work

b Syl S o J ol I3

Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A

A .cightlifter lifts a mass (m) at constant speed to a height (h) in time (t). What is
.he work done by the weightlifter equal to?

bl 4 poiy S Jaddl Gl 13k (1) 05 @ (h) Elaiyl J) A deu (M) QS JWEST ad)) ad
TJEsY

RS R A B A G L (el
You may use any of the give stants and equations where needed:

= P o580 AU = mgh el
2m

UUNE

EQ@S‘GSJSO‘N‘ 3:10
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A sl Sy S e ek L
You may use any of the given cc and equati where ded
g=-98m/s* P :g Fy. = pFy
=iy P2
W = F.Ar = Frcos@ AU = h =
Wy =—mgh U =Ky +Ug AP =] = Fat
s ;m”, W AK = <Al For a special case wherr 4, =0
= _[_2my
Ure = my + m:z] Vaa
1 ) -
W,=—kxz P=p-
2 my; — my
Plax= m, + m:z]pi?.t

mgh
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What is the momentum of a 20 Kg ca~ unball moves with speed of 110 m/s? e

110 m/s & o5 20 Kg WaliS adue dasda) dudas)! Lyml &S Lo

AP Ly 3 DAY AP L g Sy e
You may use any of the given conslants and cqualions where needed:

g=-9.8m/s P Fy = pFy

S IS

W = F.A7 = Frcos0 ol = mgh K=—
Zm
Wy =-mgh K+U=Kq+ Uy .ﬁF-—J‘-—FM

- =:;m:r‘ W= Al = <Al my ey + Ml = Myt + Mo,

i e
Vi = my g Vas

=
1
x
X,
wl

ms = my
[rd

J =
i3 [m, + miy

1100 kg.m O
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A ball is thrown up in the air, reaching  naximum height of 3.3 m. Using energy G
conserv’ ion law, what is the ball’s initial speed?

w ¢ ABlall Lads> g JI Il (3.3 m) 4] Juas gl el 089 eelogll (3 el 5,5 a3

Tiga Loty 3 il & o iy g Ot
You may use any of the given co’ & and equations where necded:
W

= ~9.8m/s? i Fy = pF,
a m/s i &= pFy
= ”
W = F.Ar = Freost Al = mgh Ke=—
Zm

W, = ~mgh K+U=Kg+U, AP = ] = Fat

K= ;nw’ W = AK = —Al Myl + My = My + a0
" = o | ]p
fix m, + my (-1

my — my
Vyzs =
= iy + iy

Joi
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P1: Text and formu' understanding skills G

Ba- .4 on the law of conservation of mechanical energy, which of t+ rollowing is
nut correct?

Souone il (b lae ST (ASSELe! ALl Jaa> 336 S Talas!

AK+AU=0 O
K+U=0 o}
AF-
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A 1000 W electric motor lifts a 100 kg safe t constant velocity. What is the
vertical distance through which the m~ .r can raise the safe in 10 s? G

v Al A8Luall b 306 Ao 100 kg LS &35 29,) 1000 W 8y Joms 31 3 s
FOls5 10 3 &5l 21 <all g 235

A A Sy S e g L S
You may use any of the given con® s and equations where needed:
w
=-9.8m/s* =— Fp = pF
g m/ At k= nFy
S P
W = F.Ar = Frcos8 AU = mgh = —
Zm
W, = —mgh K+U=Ko+U, AP = | = Fat
K=%mu’ WaaK -AU For a special case where P;; . =0
_[ Zm;
Y= my + my Pax
W, =—kx? F:mﬁ
Vizy = m,—m,] :
25~ Imy +m,
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P2: conservation of :chanical energy e

'_ A A

ad and Sultan start from rest at the same time at height (h) at the te of two
differently configured water slides. The slides are nearly frictionless, v .ch
statement is true about Ahmad and Sultan in the given position?

321 @ (h)glsyl e cdgll i 3 098l ov 3ol Olibug A uds Lagadd Ollakuny Lol
T LJUJI Egi ‘ 'l.'t:_,.ﬁi SIEEYI o0 W 1 el u_.»&i:li Qq.hau ndle BORC VIRV q;}h.!'l
Sobsl b gall azgall (§ Olalug dast e

. Ahmed

Olaku oo J81 2udg d3ls 4pul e

M Q‘Jw}y‘ ‘_ggb 3 (Jj‘LzJ‘ (JM has less po’ .tdal energy than Sultan o ﬁ



https://t.me/Alef_all

Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A 5 L @ ) | o 11-16 o ‘ A ‘ 2:26
T (AW (51 ¢ Wy JIBUSYT (8 QWIS ODISmal! (Pl ALSes (AW (pidoes (30 (5 ghad! —
Solisl egall pogall (§ Gllalug NVES G

. Ahmed

Sultan

'S

Ahmad has less potenti- _.nergy than Sultan O
Olakes (po 81+, 3Bl @) des

Both have same kine . energy. O
is_,.:di aslb w—"—' Ny Laadt

Both have sai..e potential energy. O
aogll Bl uii ag LaadS

o T - T

L.J:f.}y| é‘.’) 3 dg_L*J‘ ‘JSWas greater kinetic energy than Ahmad. ®

® daxl o ST 3> @l wul Ollalu

o ol

'-- = ;A - - see-
Y A .
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P1: Observing and © aparision skills

Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A

’Taed on the potential energy e.quétion, which of the following objects b - the

greatest gravitational potential energy with respect to earth’s surface”

gt o

o Al duda a9 Ao ST ) AW pluaYl (0 ST ¢ aup gl Bl Aslas e Tolazel
€ e
(8 25)

5@@3‘012-15 O‘N‘ 212
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i a
a
: o
3
- ]
= |
3
=
:
.
I
.
I
i The bicycle on the third floor ® :
: S Glall § dxlyll i
The watering can on the second floor o
@L‘J\ l;,._ILh.” l,;; + .l el
The bird + . the first floor
O

ij)” j..l'.b.” L_g ae © aall

u@ Q‘JW})" éb 3 dj’L”ﬂ ‘J.)'U'-’ The cat or e first floor o @

JoY! @allall (3 dladl)
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-

What is (3x10* eV) equal to in Joules?

(© )

Tyl 8u>gs (3x10% eV) 9w e

(1eV=1.6x10"))

-

A e Sty S e aly e
You may use any of the given cons® el pquations where needed:
g=-9.8m/s & Fy = pFy
= .= P‘l
W = F.Ar = Frcoz@ AU = mgh x,m
W, = —mgh K+U=Ky#Uy AP =] =Far
K ,%,,.,; W= AK = —AU iy + Mo, = myby, + Ml
2m;
l’h"_[m,-lnt,] L
W, = oket P W
2 " -y
fix iy + Yax
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P2: spring constant e

A sp~’..g is being stretched 0.07 m from its equilibrium position. If * .is stretching
reguires 35.0 J of work, what is the spring constant?

Col lad ¢ Jasdl (e 35.0 ) ) ldd Cllas 13451551 auo 90 (30 0.07 M Hlddey JA5) A o
I P

RS A Sy S e e L A
You may use any of ©  en and edq where ded

w
g=-9.8m/s* P= Fip= pFy

6 L wilasy 9 “b 9 J9J.7=JT J“" e o ﬂ

K+U=Ky+ U, AP =] = Fat
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= Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A B & EC |° 14-16 O‘ R ‘ 1:52
I@mummr == G‘_
A el bty Culh e a3l Lay Cald ]
You may use any of the given constants and equations where necded:
g=-9.8m/s* P=g Fp = pFy
W = F.AT = Freos@ AU = mgh K= %
W, = —mgh K2 sKy+U, AP =] = Fat
K:%mv’ Wom AR = <Al For a special case where P,;. adl
- [ 2ma
= [m; + mzfum
W, =-k&® P=mv S
iz — Tty
Viax = mlvm
' 1.43 x10% N/m OF
1.0¥" -N/m O
7.14x102 ,m O

119.5 N/m
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P2: Force and displ> ment graph e

IV ALY A A

.ie graph below shows the external force applied to a 15 kg object thro* ,aout a
displacement of 8.0 m. How much work was done on the object durin .nis
displacement?

8.0 m Wylude 4>l UM 15kg 4lsS ez (35350l dummyliddl B9l 0Ll Jldl syl g
Ta>liVl 0" UM ! e ojlans] o3 (I Jadd! yludae Lo

Ne_ Force vs. Displacement

S & =
e
s
®
@

Net Force (N)

0 T T T T T T

0 1 2 3 4 5 6 7 8
r placement (m)

AP R ST e iy ey S
pos ‘You may wse sy of the © snmtants and equationn where mesded:
@

b Ol (Sb 9 Jghod! J 35

L4 ° °

J

-, P
W JERr = Frcos® AU = mgh K
° m

D0%
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5 :
= &
2 i G
0 T T 1 1
0 1 2 ” 4 5
Displacement (m)
AP L 3 iy 244 e iy Ly a2
You may use any of the given constants and oqualions where neaded:
g=~9.8m/s P-.-'. Fi = pFy
- P!
W = F.AF = Frcosf o = mgh K==
2m
W, = —mgh K+U=Ko+Up AP =] = Fat

F =§mv’ W= aK = -aU mytipy + mybi; = myby + Mot
Ly "[ zm: </
fis = my + g (X
1 =
w,= —z-kr’ P=u

= _ | \Hg =Ty
125 Ly + my

] Vi
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P2: elastic collisions G

IV A A

.nich of the following is correct about elastic collisions?

Sl Glesbatll 3lad; lagd zuss (b las (4]

Kinetic energy and momentum are both conserved.
Qs e Lanli 35,2l 4usSy A4Sl d5Ua)I

L

The total impulse is equal to the change in kinetic energy.
4821 BBlall_path) Ssb + S g3l

M “omentum is not conserved it kinetic energy is conserved.
abgazae Sl dslle S (dbgaxe af a5yl dusS

Total mass is not conserved b* . momentum is conserved.
Abghrs Aol 4 ¢ cilbbgime pé &SI LS

L wlyLasV AL g Jelod! J 3 O
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